

(laim 2) At the end of one phase we have

At the end of a phase, we decrease Delta by factor 2. So at the start of a new phase (which has a new smaller Delta), we have size(f) >= size (f\*)-|E| Delta 4

completed by also so far wax flow for graph G

Proof (laim 1) In each iteration, the Lbu increases by  $\Delta$ Lit we are at most  $\frac{|E| \cdot \Delta \cdot 4}{|E| \cdot \Delta \cdot 4} = 4|E|$  himes.

Proof Claim 2) When a phose terminales, there is no st-path in  $G_{\mathcal{F}}^{\Delta}$ Let  $W \subseteq V$  be the vertices we can reach from s in  $G_{\mathcal{F}}^{\Delta}$ 

Size 
$$(f^*)$$
 - size  $(f)$   $\leq \delta(W)$  - size  $(f)$ 

$$= \sum_{(u_1v) \in E} c_{uv} - (\sum_{(u_1v) \in E} c_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f_{uv}) + \sum_{(u_1v) \in E} c_{uv}$$

$$= \sum_{(u_1v) \in E} (c_{uv} - f$$

Linear Program

Bread A needs 2 flour, legg, sells for \$3 Bread B needs 1 flour, Zeea, sells for \$2

Lecture Notes Page 2

Bread B needs 1 floor, 2 egg, sells for \$2

Le have 6 Hour Begg.

Q: What should we Sake? (We are allowed to pick fractional values)

$$0 = 3 \Rightarrow $9$$
 $L = 0$ 
 $0 = 3 \Rightarrow $10$ 

// usage of flour

// usuge of egg

Max 3-a + 2.6

3a+26=0

OPTis a=2 L=z

Def: Linear Program

A GIL NXd NZd

CERª d-dim

Max CTX

$$A \times \leq b \leftarrow (A \times) \leq b \forall i$$

Max 3-a + 2.6

$$A \times \leq b \leftarrow (A \times) = b$$

 $\text{Max} \left(\frac{3}{2}\right) \left(\frac{\times_{1}}{\times_{2}}\right)$ 

$$\begin{bmatrix} 2 & 1 \\ 1 & 2 \\ -1 & 0 \end{bmatrix} \begin{pmatrix} x_1 \\ x_2 \end{pmatrix} \leq \begin{pmatrix} 6 \\ 6 \\ 0 \\ 0 \end{pmatrix}$$

Remark: Loth = and = are equivalent, just multiply by -1

Remark: Loth  $\leq$  and  $\geq$  are equivalent, just multiply by -1  $2a + 5b = 6 \longrightarrow 2a + 5b \leq 6 \longrightarrow -2a - 5b \leq -6$